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QUESTION 1

Which of the following is a supported Container lifecycle hook in a Kubernetes environment?
A. PreStart

B. PostStop

C. PostStart

D. Completed

Correct Answer: C

QUESTION 2

What is a way for a customer to use their on premise Hardware Security Module (HSM) to secure applications running
on IBM Cloud?

A. They can use Keep Your Own Key (KYOK) with IBM Cloud Key Protect service

B. They cannot use Keep Your Own Key (KYOK); they need to use an IBM Cloud HSM
C. They cannot use Keep Your Own Key (KYOK); only Cloud provision keys work

D. They can use Keep Your Own Key (KYOK) with IBM Cloud Security Advisor

Correct Answer: B

QUESTION 3

What does the IBM Cloud Virtual Server Auto Scale feature provide?

A. Configures security group permissions

B. Seamless and automatic scaling up of instances when more resources are required due to demand
C. Flexible scaling based on RAM usage

D. Provisioning on-premise servers

Correct Answer: B

QUESTION 4
What would a developer write to manage the lifecycle of an application in an IBM Cloud OpenShift cluster?

A. An operator
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B. A private registry
C. Ajunction
D. A docker instance

Correct Answer: B

QUESTION 5

Which of the following describes a Watson Speech-to-Text custom language model?

A. Expands a base model defining a set of production rules for transcribing strings

B. Provides support for additional, custom languages with Watson Speech to Text

C. Is used to expand and tailor the vocabulary of a base model to include domain-specific terminology
D. Is used to adapt a base model to your environment and speakers

Correct Answer: A
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